ECHNICAL INFORMATION

'II! !’ A!! ”'i

72714

Subject P> Change of Lever 95 etc.
2O\ GEEIS ) - 2708, 2711
P> All countries

P> Lever 95 of the subject models has been replaced by model 2703's Lever 90 .

Accordingly, Flat washer 10, M10x18 set bolt and M6x12 countersunk head screw

have been changed.

See illustration below for the detail.

» Current > New
Flat Washer 10 Set Bolt M10x18 Ring 10 Set Bolt M10x18
(253024-7) (265920-7) (257008-7) (266372-5)
° Countersunk Head Hex. Socket Head
Screw M6x12 Bolt M5x25
(912312-8) (922243-3)
@
4
Lever 95 Lever 90 Complete
(272224-0) (154686-3)
Interchangeability(I/C)
Item No. Current part Q'ty | I/C New part Q'ty Note
2708:032|Lever 95 | | o [Lever 90 Complete |
2711: 048[272254°0 © [154686-3 !
2708: 028 Flat Washer 10 L | o [Ring10
2711: 045[253024-7 © 15570087 !
Interdchangeable
2708: 033 |Set Bolt M10x18 Set Bolt M10x18
....................... 1 | No [25-o-n- e 1 as a set
2711: 046|265920-7 266372-5
) Countersunk Head Hex. Socket Head
2708: 031 Serew Mox12 1 | No|BoltMsx25s | I
2711: 0471912312-8 9222433

Implementation

Immediately upon completion of preparation




